ASSEMBLY INSTRUCTION

AN, /&

=N\

AN AN

STEP2

Dm 1 10pcs| 1/4” X 25mm Flat Head Bolt

*pumm |4DCS | 1/4” X 35mm Flat Head Bolt

Dme 14pcs|1/4” X 12mm Pan Head Bolt

A
B
C

STEP1

Note: Pls do not tighten all bolts until the bakers

rack is assembled completely.




ASSEMBLY INSTRUCTION

Allen Key

Ine

A | Dm 2pcs |1/4"X25mm Flat Head Bolt

B | Dmm 2pCS |1/4”X35mn Flat Head Bolt

E | =« |12pcs|GLASS SHELF SUCTION

D | (wmm Ppcs | 1/4” X50mm Pan Head Bolt

STEP4

Note: Pls do not tighten all bolts until the bakers

rack is assembled compietely.




Quantity

— Oy O] ] — NN fr——] O3 |V

: ©
o = —
o ) *
o o ©
+ T3] 23] —
o N | __1/\(_'3
s 23 e B R
— | OF-J

O |ne | el e E% clalElEIEss 2™

(23

2 |S|al3] |£ NG EERAE
< | | O My — | m[_NH
“ Mmlwn || — i Q|6
e , Emmcn:: m|=< @b X vz
e EEEREEREEEERE
o B2 eEo|s|EE|RIEIE|8R Zla
< MO M| ] O] X — Ml =

_J




Quantity

K

~ g =] O3 ] =N — | O N
©

o e —
o %) *
. o . [{o]
+© m ey —
opf — »-]AO
H E m mle| © §|=
(&) % — | = o"‘l,
gmmm 2ol e [_'%55'_'&'

m

S IS|al8 |« alolr|=R &lo
< | =l O wlml=|A A =

2 Imlwv w|lwnlal|ln - in D&
+ Ewmao m<ma§m'
3 51518 SISIEIRRIEIEIZE SIS

—
A IR ElElo|o|=lElalE|E|mix Cla

- . M




